Substitution

Cut out the cards below and put them into pairs by substituting the values A = 3,
B = 2,
C = 5,
D = 4, 
E = 10 
and
F = 6

into each of the expressions.
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Substitution

Answers.

Cards 1 & 4
Answer 2

Cards 2 & 7
Answer 10

Cards 3 & 9
Answer 8

Cards 5 & 10
Answer 27

Cards 6 & 8
Answer 100







_1055706415.unknown

_1055706771.unknown

_1055706830.unknown

_1125906966.unknown

_1055706704.unknown

_1055706603.unknown

_1055706096.unknown

_1055706339.unknown

_1055705752.unknown

_1055705875.unknown

